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Directions to students:
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Answer questions in the space provided.
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TEACHER’S USE ONLY
Total Marks

Section 1

Section 2

TOTAL

Section 1
Equations and Formulae

1. Solve the following:

2)

124+5p=2p-9
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8—2x—4)=4x+9
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: 6. SolV.'e the following:
2. Make y the subject in mx+ay=>b 2

2x+y=7 .. -0
) ) ' 2 x —y=2 @

3. Given C=a* —4find: b) y=2x+3 and x+y=12 '

1) the value of Cwhena=7.8 1 /
3a—b=11
b) the value of a when C = 10.5161 2 9 3= 12\
p . |
4. The length of arectangle is three more than three times its width. 3 ) a At the Paris cinéma it costs $105 for 5 adults and 4
The perimeter of the rectangle is S4cm. children while it costs $90 for 3 adults and 6 children.
Form an equation and solve it to find the dimensions of the rectangle.

3

Form equations and solve to find the cost of a child’s ticket

j




Section 2 Trigonometry

5. Solve by factorising:
2 —
8) x°+6x=0 2 1. Find the size of angle P to nearest degree
Iangle L 1o nearest aegree
P

: [

|

i

Q
i
" |
b) 2% —Tx+3=0 : 2 :
f ] \
2. Find the size of angle C to the nearest minute
A ———
_____ . B 16m
A B
¢) Solve using the formula: 3
2x* +x—4=0 (leave answers as surds)
17m 20m




5. For the figure below find 2) the length AC to the nearest mm 3
b) the area of A ABC to nearest cm” 3
3.
Georgia is standing on the beach looking
outto sea. She sees Les at a lighthouse L ona
bearing of 045 T and Jim on a jet ski Jata

bearing of 125 T.
“The jet ski is due south of the lighthouse.
4) Show that ZL.GI=80° and 2
L GLI=45° B
108°
12cm 17cm
b) Georgia knows she is 3 km from the 3 i A . C

lighthouse. How far is she from the jet ski?
(answer in km to 1 decimal place)

Not to Scale |

4.
Samantha stands at the viewing platform of Centrepoint Tower 295 m above the ground.
She sees Gwen who is at ground level. Sam finds the angle of depression of Gwen to be

19°40°.
a) Draw a diagram showing this information . 1
b) Calculate the distance from Gwen’s feet to the base of the tower. 3

(answer to the nearest metre)
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* Not all questions are of equal value. Section 1 ‘

* Al necessary working must be shown in every question.
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Section 1
Equations and Formulae

1. Solve the following:
a) 12+5p=2p-9

Sp-Zy=-9-12
zZp = -2|
z= =7

b)  8-2(x—4)=4x+9

B-2xX+8 = 4t

“DCHG = 4t ]
-2 X G L

~bx= -7

x>z
LN

7

= fe
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5x+3 1-2x
——— T
7 3

2(&xe) > TU-2X)

©)

1509 > 716X
(Sl > 79

292 > -2
~ 7_':_2

l( 2a+1 a+t4
oL 9

3 2
2(24:41) = 2{ 4G = 3L

=6

at2 -24-172 =3¢

4-10 =34

a.=_4%




2. Make y the subject in mx+ay=> 2
= - pmx

Qg,s b~24x / %

3. Given C =a* - 4find:

a) the value of Cwhen a=7.8 1
a=78%¢ (
= 60.84 ~4
A
= 56-%¢
b) the value of @ when C=10.5161 2

254 = (0.5/61

a’= 15147 J/ }

Q= ot T
==y V4
<= 3-8/
4. The length of a rectangle is three more than three times its width. 3

The perimeter of the rectangle is 54cm.
Form an equation and solve it to find the dimensions of the rectangle.
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Solve by factorising:
a) X +6x=0 ) 2
X (XfE) =0 /

Y XFO oy K= -k

b) 2x* ~Tx+3=0 2

2% - xct3 =10

2x(x-3)-(x-2) =0 /
Oc-3) (2o¢—() =B

/
Sox=3 er 2x-1F0

2oc= |
=t
2 P

o= PP qac 3

¢) Solve using the formula: >

2x* 4+ x—4=0 (leave answers as surds)

o= o1E JeD (ax2x-¢) /
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6. Solve the following:

2x+y=7 - @

x —y=2 @
Xo=2Ay @

supstitute & v (0

2

gltéﬁ:&'«:(’e/‘ysl o @

=7
2(2tyltyg=7 / Zx;;é
G¥Fyey = 7 x =2 /
?g—:? —_ Y=/ > x=3 M;}:/
b) y=2x+3 and x+y=12 ' 2
Y=2c€3 .o
)C-I'y =12

.\@

Gubstitute O inte @) bttt =7 it &
XA2oce3 = (2 / Bly =12 /
202 =2 // Z/ 2
=9
=3 =2 =] /

0 3a-b=11

) 94 -2L=28% - © 3
2a-3b=12 ---@ 2q-2b= (2 ---@ /
@ - @ i
7R, =% ~b=y-9 / ,
473 b e 2 /
2x3- b=/ L2 J /
G-be=y 2 2 Q=B =2 7
d) At the Paris cinema it costs $105 for 5 adults and 4 3
children while it costs $90 for 3 adults and 6 children.

Form eguations and solve to find the cost of a child’s ticket

Sa e =05 - O

/ Subtbitote o= 75 At &
2q + 6*7-5=90

2a4Co= 90 @
3t =90
2h=90-6¢
e Go-ba e

3
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5((2’(9-—66)4,4;0 =({OS
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5(40-beg) ¢(2¢ = 21T
4SO -30¢e ¥12¢ = 3/5

—{%d = 5-&SO

“lFe = —(3%

16= (2%
i

C=%75

A=15
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Section 2 Trigonometry

1. Find the size of angle P to nearest degree 3
&
y Sin GO’
om sinG
G 1

Q 6!h(9 = .G___————ﬁ’"/' “o”

6m

= 0.429525 .-~

&= s (0«22

® 25 ( neaver Hegreg)
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2. Find the size of angle C to the nearest minute
ek a%b"- 205 MJ’C"

3
16m
a% b c? A B
206 %%fbgzéz
wsC =
17m) 20 m

209'—6172«/52

24 20x17
e = €373 /
o
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N N Georgia is standing on the beach looking
out to sea. She sees Les at a lighthouse L ona
bearing of 045 T and Jim on a jet ski Jata
bearing of 125 T.
The jet ski is due south of the lighthouse.
a) Show that £LGJ =80" and 2
ZLGLI=45"  gince £ Nal = i46° {given)
. R o LQUT sl (ke 45, NS LT)
cr LT = LNGT - LNGL
= (28"-4s L) ’
= 50 /
b) Georgia knows she is 3 km from the 3

lighthouse. How far is she from the jet ski?
(answer in km to 1 decimal place)
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4.
Samantha stands at the viewing platform of Centrepoint Tower 295 m above the ground.

She sees Gwen who is at ground level. Sam finds the angle of depression of Gwen to be

19°40".

a) Draw a diagram showing this information 1

b) Calculate the distance from Gwen’s feet to the base of the tower. 3
(answer to the nearest mefre)

L) an 1940 = 245 \/
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5. For the figure below find a) the length AC to the nearest mm
b) the area of A ABC to nearest cm

2

108°
12cm 17cm

%

VLA 0% (7% 2xi2x17x CosIOE
569. 0754237 - -
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b=
S iagthof AC = 236 M (ngprgot mm)
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